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1 100kN/mM%#8x25 | 1.00 | 0.00 ~ 313 149.93 |3m#%#Z5| 000 ~ 101|345 18.47 | 100kN/m%i#8z5% | 1.00 | 1091 ~ 4949 | 149.93 |3mEHBZB| 40.00 ~ 4949 | 3.45 18.47
s 1.00 | 313 ~ 1091 100.00 | #npdst | 1.01 ~ 1091 3.00 16.05 Thlst 1.00 | 5.00 ~ 1091 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
2 100kN/m##8x5% | 1.00 | 0.00 ~ 3.04 148.39 |3mZE#BZB| — ~ — — — | 100kN/m##8%% | 1.00 | 1088 ~ 39.11 148.39 [3mZx#Z5 - ~ — — —
s 1.00 | 304 ~ 1083 100.00 | ZnLLASt | 0.00 ~ 1083] 2.98 15.97 Thlst 1.00 | 5.00 ~ 10.88 100.00 | =St | 5.00 ~ 3911 2.98 15.97
3 100kN/mM%#8x25 | 1.00 | 0.00 ~ 2.80 144.25 |3m#%#Z5| 000 ~ 0.90 | 3.39 18.15 | 100kN/mi£#825 | 1.00 | 11.20 ~ 4027 | 144.25 |3mE{BZ 5| 4000 ~ 4027 3.39 18.15
s 1.00 | 280 ~ 1058 100.00 | EnLLiSt | 0.90 ~ 1058 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.20 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
4 100kN/m##8x5 | 1.00 | 0.00 ~ 261 141.04 |3mZE#BZB| — ~ — — — | 100kN/m##8%5% | 1.00 | 11.41 ~ 37.81 141.04 |3m%E#BZ5 - ~ — — —
s 1.00 | 261 ~ 1040 100.00 | #nLst | 0.00 ~ 1040 2.90 15.50 Thlst 1.00 | 5.00 ~ 1141 100.00 | =nLst | 5.00 ~ 3781 2.90 15.50
5 100kN/mM%#8x25 | 1.00 | 0.00 ~ 283 144.84 |3mZE#BZB| — ~ — — — | 100kN/mi%E#BZ25 | 1.00 | 11.12 ~ 3867 | 144.84 |3mZE#Z5 - ~ — — —
s 1.00 | 283 ~ 1062 100.00 | ENLS | 0.00 ~ 1062) 2.94 15.73 Thlst 1.00 | 5.00 ~ 1112 100.00 | #ndst | 5.00 ~ 3867 2.94 15.73
6 100kN/mM%#8x5 | 1.00 | 0.00 ~ 263 141.30 |3m%#%5%| 000 ~ 082 3.35 17.91 | 100kN/m£#825 | 1.00 | 11.49 ~ 4228 | 141.30 |3mZE{BZ 5| 40.00 ~ 4228 3.35 17.91
s 1.00 | 263 ~ 1041 100.00 | LSt | 0.82 ~ 1041 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.49 100.00 | =nLst | 5.00 ~ 40.00 | 3.00 16.05
” 100kN/m#%#8z5| 1.00 | 0.00 ~ 2.03 131.32 |3mZi#BZ 5| 000 ~ 057 | 3.23 17.29 | 100kN/m%#825 | 1.00 | 1269 ~ 44.17| 131.32 |3mZEBZB| 40.00 ~ 44.17| 3.23 17.29
Thilst 1.00 | 203 ~ 9.81 100.00 | =hust | 057 ~ 9.81 | 3.00 16.05 ZnLst 1.00 | 5,00 ~ 1269 100.00 | EnLSt | 5,00 ~ 40.00 | 3.00 16.05
P 100kN/m#%#8z5| 1.00 | 0.00 ~ 1.13 117.10 [3mZE#EZASH| — ~ — — — | 100kN/m%#Z25% | 1.00 | 1268 ~ 1945 117.10 |3mZE#BZ3 - ~ — — —
Thilst 1.00 | 1.13 ~ 892 100.00 | =huist [ 000 ~ 892 2.10 11.22 ZnLst 1.00 | 5,00 ~ 1268 100.00 | EnLS | 500 ~ 1945 2.10 11.22
9 100kN/m#%#825| 1.00 | 0.00 ~ 2.39 137.34 [3mZE#EZSH| — ~ — — — | 100kN/m%#z25 | 1.00 | 11.08 ~ 2579 137.34 |3mZE#Z5 - ~ — — —
FhnLst 1.00 | 239 ~ 1018 100.00 | ZHLS | 0.00 ~ 1018) 2.84 15.22 Fhst 1.00 | 5.00 ~ 1108 100.00 | =t | 5.00 ~ 2579 2.84 156.22
10 100kN/m#%#825| 1.00 | 0.00 ~ 1.48 122.60 [3mZE#EASH| — ~ — — — | 100kN/m%#%2% | 1.00 | 1095 ~ 1693 122.60 |3mZE#ZS - ~ — — —
Thilst 1.00 | 1.48 ~ 9.27| 100.00 | FhL4 | 000 ~ 9.27| 223 11.95 ZnLst 1.00 | 5,00 ~ 1095 100.00 | EnLSt | 5,00 ~ 1693 2.23 11.95
11 100kN/m%#82% | 1.00 | 0.00 ~ 2.51 139.40 [3mZE#EZASH| — ~ — — — | 100kN/m%#Bz25 | 1.00 | 11.05 ~ 2737 139.40 |3m%E#BZ5 - ~ — — —
FhnLst 1.00 | 261 ~ 1030 100.00 | TSt | 0.00 ~ 1030] 2.85 15.25 Fhst 1.00 | 5.00 ~ 1105 100.00 | =4t | 5.00 ~ 27.37| 2.85 15.25
19 100kN/m%#82% | 1.00 | 0.00 ~ 2.56 140.18 [3mZE#EZASH| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 11.15 ~ 2975 | 140.18 |3mZE#BZ5 - ~ — — —
FhnLst 1.00 | 266 ~ 1034 100.00 | TSt | 0.00 ~ 1034| 2.83 15.16 Fhst 1.00 | 5.00 ~ 1115 100.00 | #nist | 5.00 ~ 2975 | 2.83 156.16
13 100kN/m%#8z25%| 1.00 | 0.00 ~ 207 | 13211 |3mzx#8B25| — ~ — — — | 100kN/m%#Z25 | 1.00 | 1221 ~ 32.73| 132.11 |3mZE#Z3 - ~ — — —
FhnLst 1.00 | 207 ~ 9.86 100.00 | #hst | 000 ~ 9.86 | 2.82 15.09 Fhst 1.00 | 5.00 ~ 1221 100.00 | =St | 5.00 ~ 32.73| 2.82 15.09
14 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — - ~ — — |3mEHEAS -~ — — —
FhLst 1.00 | 0.00 ~ 5.96 74.59 | =S | 0.00 ~ 0.00| 1.69 9.05 zhst 1.00 | 5.00 ~ 6.80 74.569 | Fhst | 500 ~ 6.80| 1.69 9.05
15 100kN/mMZ#8Z % — - ~ — — |3mZE#EZDE| — ~ — — — | 100kN/MiZ#8% % — - ~ — — |3mEHEZS -~ — — —
ThLst 1.00 | 0.00 ~ 5.32 66.34 | =nst | 0.00 ~ 0.00 | 1.63 8.76 FhLs 1.00 | 5.00 ~ 5.91 66.34 | Thst | 5,00 ~ 591 | 1.63 8.75
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16 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.75 85.30 | #hAst | 0.00 ~ 0.00| 1.63 8.73 Thlst 1.00 | 5.00 ~ 8.59 85.30 | =hLS | 5,00 ~ 859 | 1.63 8.73
17 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.97 88.36 | #ns | 0.00 ~ 0.00| 1.61 8.64 st 1.00 | 5.00 ~ 9.27 88.36 | ThLS | 5,00 ~ 927 | 1.61 8.64
100kN/mM%#BZ % ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ % ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/MZ#8 2 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~
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